1. (12 points) Calculate the following integral:
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2. (11 points) Let C be the positively oriented circle of radius 2 centered at 0. Calculate

by parametrizing the contour: NS -
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3. (11 points) Let C' be the line starting at 0 and ending at 1+i. Calculate by parametrizing

the contour:
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4. (11 points) Suppose C' is the positively oriented triangle with vertices 0, 3z, —4. Show
that:
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5. (11 points) Suppose C' is any contour starting at 2 and ending at 3i. Use an antideriva-

tive to calculate:
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6. (11 points) Suppose that C' is any contour that starts at 0 and ends at i/2. Use an

antiderivative to calculate:
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7. (11 points) Let C denote the positively oriented boundary of the square whose sides lie
along the lines r = 42 and y = +2 Evaluate:
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8. (11 points) Let C be the positively oriented circle of radius 3 centered at 2. Find
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9. (11 points) Let C be any positively oriented simple closed contour. Show that glw) =
6miw for w inside C where: . ‘
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